. Word Problems .
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1. Marta’s paint brush is 14 centimeters long. Lori’s paint ® °
® brush is 2 centimeters shorter. How long is Lori’s brush? o

2. A green boat is 23 feet long. The red boat is 6 feet ® ©
e longer. How long is the red boat? o /0

® 3. Stacy has 3 pencils. The pencils are 15cm, 12cm,and9 o *
e« cm. What s the total length of all Stacy’s pencils?

e 4. Martydrove 5 km to the store then5 km home. How far o *
. did Marty drive in all?

e 5.Alarge bag of chips weighs 144 grams. A can of Pringles , e
weight 165 grams. Which one is heavier?
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